



3. For  $f(x) = \frac{x^2-x}{x^3+2x^2-x-2}$  find [30]

a:  $\lim_{x \rightarrow -2^-} f(x)$ ,    b:  $\lim_{x \rightarrow -\infty} f(x)$ ,    c:  $\lim_{x \rightarrow 1} f(x)$ .

**Solution:** First establish the types of limits:

a: “ $\frac{4+2}{-8+8+2-2}$ ” = “ $\frac{6}{0}$ ”,    b: “ $\frac{\infty}{-\infty}$ ”,    c: “ $\frac{1-1}{1+2-1-2}$ ” = “ $\frac{0}{0}$ ”.

We see that the limit in (a) DOES NOT EXIST, but we still must find out whether it is  $\infty$  or  $-\infty$  or neither. Since all limits have indefinite types, we must simplify  $f(x)$ . While calculating the types of limits, we found out that the denominator has roots at  $x = -2$  and  $x = 1$ . Therefore  $(x+2)$  and  $(x-1)$  are factors of the denominator, so  $x^3+2x^2-x-2 = (x+2)(x-1)(x+1)$ . Cancel the common factor:  $f(x) = \frac{x(x-1)}{(x+2)(x-1)(x+1)} = \frac{x}{(x+2)(x+1)}$  for  $x \neq 1$ . Now

**for a:**  $\lim_{x \rightarrow -2^-} f(x) = \lim_{x \rightarrow -2^-} \frac{x}{(x+2)(x+1)} = \frac{-2}{(0^-) \cdot (-1)} = -\infty$ ,    **DNE.**

**for b:**  $\lim_{x \rightarrow -\infty} f(x) = \lim_{x \rightarrow -\infty} \frac{x}{(x+2)(x+1)} = \frac{\frac{1}{x}}{(1+\frac{2}{x})(1+\frac{1}{x})} = \frac{0}{(1+0)(1+0)} = 0$ .

**for c:**  $\lim_{x \rightarrow 1} f(x) = \lim_{x \rightarrow 1} \frac{x}{(x+2)(x+1)} = \frac{1}{(1+2)(1+1)} = \frac{1}{3 \cdot 2} = \frac{1}{6}$ .

4. Find the limit and state your answer as  $\infty$  or  $-\infty$  if appropriate. [20]

$$\lim_{x \rightarrow -\infty} \frac{1}{\sqrt{x^2+x+1} - \sqrt{x^2-3x}}.$$

**Solution:** The limit has type “ $\frac{1}{\infty-\infty}$ ”. Since it is indefinite type, we must simplify the function. Multiply the numerator and denominator by the conjugate of the denominator:

$$\begin{aligned} \frac{1}{\sqrt{x^2+x+1} - \sqrt{x^2-3x}} &= \frac{\sqrt{x^2+x+1} + \sqrt{x^2-3x}}{(\sqrt{x^2+x+1} - \sqrt{x^2-3x})(\sqrt{x^2+x+1} + \sqrt{x^2-3x})} \\ &= \frac{\sqrt{x^2+x+1} + \sqrt{x^2-3x}}{x^2+x+1 - (x^2-3x)} = \frac{\sqrt{x^2+x+1} + \sqrt{x^2-3x}}{4x+1} = \frac{\infty}{-\infty} \end{aligned}$$

and the limit is indefinite. Therefore we must divide the denominator and numerator by the highest power of  $x$  in the denominator:

$$= \frac{\frac{\sqrt{x^2+x+1}}{x} + \frac{\sqrt{x^2-3x}}{x}}{4 + \frac{1}{x}}$$

Since  $x \rightarrow -\infty$ ,  $x$  is negative, so we have  $x = -\sqrt{x^2}$  (with the minus sign), so

$$= \frac{\frac{\sqrt{x^2+x+1}}{-\sqrt{x^2}} + \frac{\sqrt{x^2-3x}}{-\sqrt{x^2}}}{4 + \frac{1}{x}} = \frac{-\sqrt{\frac{x^2+x+1}{x^2}} - \sqrt{\frac{x^2-3x}{x^2}}}{4 + \frac{1}{x}} = \frac{-\sqrt{1 + \frac{1}{x} + \frac{1}{x^2}} - \sqrt{1 - \frac{3}{x}}}{4 + \frac{1}{x}}.$$

Now

$$\lim_{x \rightarrow -\infty} (\sqrt{x^2+x+1} - \sqrt{x^2-3x}) = \lim_{x \rightarrow -\infty} \frac{-\sqrt{1 + \frac{1}{x} + \frac{1}{x^2}} - \sqrt{1 - \frac{3}{x}}}{4 + \frac{1}{x}} = \lim_{x \rightarrow -\infty} \frac{-1-1}{4} = -\frac{1}{2}.$$

END OF PAPER